W plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

Rustic / Mahogany
Series N Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition

(2014) Florida Building Code (FBC) structural requirements excluding the "High

Velocity Humicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E1996 and Section 1609.1.2.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same
as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures, & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

Endura astragal details

R (N[oN[O B WIN

Bill of materials & components

74.00" MAX. OVERALL FRAME WIDTH

98.00" MAX. OVERALL FRAME HEIGHT - INSWING

96.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

©)

>
O

_———

I//

- S
N N
®ecee %0\\

W

\

Loy
INC

BUILDING CONSULTANTS,

(@)

/

-+ SLORIDA..*

Y
/)

7,
Z,
/,/, 8
/]
813.659.9197

7,
P.O0. Box 230, Valrico, FL 33595

Phone No.:

W

Documents Prepared By:<,\Jqa ",

Lyndon F. Schmidt
P.E. No. 43409

R

FBPE C.A. No. 9813

wn
=
G0
l(ﬁZ
vg o
S8 =
e -0z
z]| =Zu
o
ouls =
xo| 5 <©
S Ly
S| 3
gg:)"'" ey
7]
L L
To|2 2
B Lyl OS2
=0
= S| &0
o x oz
x < o
[a a

Sl

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<C
()
S
z
2

oATE: 02/16/'1

SCAE:  N.T.S.

DWG. BY: JK

~ OVERALL | DESIGN PRESSURE (PSF)
SWING FRAME =
DIMENSION | POSITIVE | NEGATIVE
INSWING | 74.00" x 98.00" | +45.0 | -50.0
OUTSWING | 74.00"x 96.50" | +45.0 | -45.0

CHK. BY: LFS

DRAWING NO.:
FL-15213.24

SHEET 1 oF 8

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.19-26.dwg, FL-15213.24

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOQ 9NIgINg "My 2102 @

¢1L86 ‘ON V'O 3444 SNOISIAIY

L61L6°6S9°C L8 :"ON ®8uoyd Ad 31va [ON]|« 3
. i oo V. -, . N |
G6SEE T4 'OOMIPA ‘0£Z Xog ‘O'd \§ ST W] B00E ¥ | 084 (#10z) ‘a3 HIS ol 3ivadn| si/zz/v0] L || |X|L]| W _
"ONI ‘SINVLINSNOD ONIQTINg g. “XIEN3SSY 80 L1avd ol=| TIF. 5|8
H00d SSY1943814 y = . 2 0 2_

60¥Sy "ON ‘3'd "ONI 0¥d1SVd o |52 |
IPIWYDS 4 uopuk] ol =l P S el
o, Y% :A8 peipdeld sjuswnoog :10Naodd .ml R w &

@)
EXTERIOR

//
77

//
v
Ll

@)

7“2\ VERTICAL CROSS SECTION

\2/

iy - £
‘I:@N._. “ m”. :M.-
S T - &
e ) S RS-
[ A‘u ._U... o3| [n - ———] :W..
3 ..... ke 4 e el | O 1+‘ oc
R R FRSt i Ol B = =
L i <3 E
/ 7":mm._.l'u—
ON =
] /l w
/J &p
T W T N~ /J CS
N S g =lo
N| — 3 35
® ——
——— &
oy — £l = ] L =
" . | 2o
! T IE sE
3 B 3 5| 22
=4 oo P, Ol
a * =0 |0
Y * K
3 ® (®
[ %)
o
o (2% mnu
o o 3
o oz
= E =
z B O
as
(o]
X
®
//

77

.
S

D

@ DOOR PANEL

35.75" MAX
=—  DOOR
PANEL WIDTH

1HOEH 1INVd 400d XYW .5T°56

97 'BMP'9z-6T €TZST-T4\uaund\sBumelq - D\ETZST-14\s[ercuddy 1onpoud epLOI\LNINYINYId dul ‘0idise|d\siualD\y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.19-26.dwg, 3.6

P

1-1/4" MIN.
EMB. (TYP.) -
SN
‘ sd Q 0.15"
X —»| |[=— C'SINK
. -] @ (P
..

(8)
(D

L) Lt :

.4 I/ 111111717711/

=l & .
.. .
: W

b

(40)

1-1/4" MIN.
EMB. (TYP.)

/g\ INTERIOR
(4
3/
X | S
17
EXTERIOR

m HORIZONTAL CROSS SECTION

1/11/111111111/ 111117
W

a. - ’ ) p
¥/7/711] 711117

77

m HORIZONTAL CROSS SECTION

\y Outswing shown - inswing

also approved

NOTE:
1. As noted in the test report astragal was attached
to the inactive leaf with (11) #8 x 3" psh sms and
(6) #10 x 2-1/2" pfh sms for all 8'-0" (outswing).
Astragal was attached to the inactive leaf with
(13) #8 x 3" psh sms and (6) #10 x 2-1/2" pfth sms

for all 8-0" (inswing).

8) )

INTERIOR

INTERIOR 0
S l‘l"’/ ~
f /
2|2 2
EXTERIOR @ W

m HORIZONTAL CROSS SECTION
W Outswing shown - inswing

also approved

EXTERIOR

\_3_/ Shown w/1X sub-buck

1-1/4" MIN.

AMAMANY

//

/~3"\ HORIZONTAL CROSS SECTION
w Outswing shown - inswing

also approved

EMB. (TYP.)

0
)
0
.9
%rf)
Z
Lo
0 .
282
. <TQe
2° 1000
:>>n-cn
D, 2 Sns
3. Onwz
) Qe
- O o xz<
o c Z‘g (¢}
§ Eoa {0
e 59 245k
oy S%cem
L "¢ mooL
gy
0
6 ¢
E 6% §
3 O .
g su
8 2o 8%
%)
=
o
S
gl o
°egl @
=) [75)
78]
o0l .., o
x> &
B Sal ©
223 S
Solal
oo =
2 NS
x| N
= o| &
fa) S
o) El I
4 <
o (2
Sl&
wn
z
o
%
>
o]
o

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

L
<
()
S
zZ
2

oaTE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL—15213.24

SHEET 3 oF 8

@ 2MN12 P W Riin NINR MANSIHE TANTS INM



"ON| SLNVLINSNOJ 9aNIaling

‘MY 2102 5

€186 'ON V'O 3dgd SNOISIATY
L616°659'CL8 'ON Suolyd Ad 31Va [ON] ey hp
S6SEe 714 ‘O9MIPA ‘0£Z Xog ‘O'd § SNOUSEE BROED Tl | o83 (»102) a3 ALs 0L 3Ivadn| ci/zz/p0l b ||| X (2| o |
o_v_:_ _..mkzﬁ._:mzoo oNIaTINg \&. :X1GN3SSY 90 Lyvd o= ol I T 5
X3\ 1y, J00d SSv19d3al4 NE g u
/,,/o,w WNO/ s 80¥EY "ON “I'd ONI 0¥d1SVd SREE *
QDo . , IPIWYDS ‘4 uopuk] al9ls|elED|E
I/&/... hy %y ....&MJ\\\im peiodelq sjuewnooq :10NAa0dd .UM m m Mm_.r M
A
....ﬁ.th:\NN 5
ll-.l lll” \
w IeNaON A, &
= W
w
Hipppnw
("dAL) "gw3 mxu
NIW .7/ 1-1 oz
H
= S
=
O
Ly
“ C
pedlte)
K=
S o|t
[<4=]
Ol
oz -t| ©
O ]k
oz VUlo
L o I~{E
2 Z o) 3
= (o] = >\
= &
o >
/ A E N\
(7]
Q|3
SR
ol 2
—x
Sz
=l <
o [ B3
wi| ©
Sl 88
L
—
("dAL) "aw3
NIW ./ 1-1
- (‘dAL) "gwW3
NIW ./ 1-1
/./>
v
7. "5
L (dAL)
.9 —— JNIS.O
¢ A "8 510
v VU
v \\@
v ,4 _V o (a4
. 7711111111171 D = D =
e Q9 & o
= [
z Qo Z 9
B - 915
m.m w,m
1 >
e md | D
. Yge X 218
N 2o - 30
|28 O\
=[S0 =3
/29 w55
>0 A >0
[a% oz 4
m — < m 5 ‘ uv. i
& O o
pos < R
N} L h . N
TN
("dAL) "gwW3 _|
NIW ¥/ 1-1

9 ‘BMP'9z-6T € TZST-14\uaLNd\sBumelq - I\ETZST-T4\s|erosddy 1onpoid epHOA\LNINYINYI dul ‘0idise|d\sualiD\Y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.19-26.dwg, 5.6

] 4" 4|I
Ty 1l F N |
" LT T
o [l l ] S
._“-_ - || ~
A
j‘ —  TYP.HEAD . —|— 9
MASONRY & JAMBS !
OPENING [l
|l R
|l .
|l ZH %
ASTRAGAL | =g
__ SHOWN FOR J” | &8¢
XBUCKN{[™  rererence | =5
ONLY Il
Il ]
- |l - S :
= |
!
~ |- I - :
v‘ . H

g < >y
v * e v v R
]
H S &Y e w M a0 Y
By Q- % ", .
) - 2

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

HINGE JAMB

ITW \ LU \L] 1]
ApcoN® | 174 1-1/ 2 4
ELCO ., . . .
utracoN®| 1/ 1-1/ 1 A
W o | 316" 1-1/4" 3 1-1/2"
TAPCON

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

A

L c— 6"

=
MASONRY | [ TYPJ' f&g‘? &
OPENING
Al ASRAGAL
FRAME SHOWN FOR
REFERENCE
ONLY
2X BUCKX
N~
= SEE DETAIL

T IW T
|1\ sEE DETAIL

Iz
I
I
I
I

|l
/i

! TYP. @ SILL

FRAME ANCHORING

Masonry 2X buck construction

6"\—‘ -

==
5.5" 4"‘ |<—

17.76" MAX.
ON CENTER

ASTRAGAL STRIKE JAMB

/
I/

DETAIL 1

Inswing configuration

//

R
@ v

=

DETAIL 1

Outswing configuration

O ;
(=23

//

®

O<L

/
I/4

LATCH & DEADBOLT DETAIL

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:
FBPE C.A. No. 9813

Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BUCK & FRAME ANCHORING 2X
BUCK MASONRY CONSTRUCTION

PRODUCT:

K
BY

|5

20,
~(D

HINGE DETAIL

REVISIONS

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

Lu
<
()]
S
Z
2

DATE: 02/16/'1

scALe:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.24

SHEET 5 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



RAClients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.19-26.dwg, 6.6

L)

o

® ‘:
DETAIL 2
©
2 = a - L o\ \\
DETAIL 1

DETAIL 1

Inswing configuration

CONCRETE ANCHOR NOTES:

Outswing configuration

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

Aveon® | 14 1-1/4" P &
ULTERLA?C(:)ONG) /4" 1-1/4° T -
. A'PTZ"ON® 3/16" 1-1/8 3 1-1/2"

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

%

‘ — == . <. .t , \
HW |
H3 o || \_ sEE DETAIL _
B I g o
] ~~ TYP. HEAD &
= MASONRY 7 MBS [ N
OPENING I
1R ||
_ | A
| ASTRAGAL
; SHOWN FOR
N ERAME / | y REFERENCE ONLY
) | | p—
'S EE] ’ | g E
% 1X BUCK \ || =8
= {
1 £ - S PATAIL TYP. @SILL
— v\
| Al a | LN I
HINGE JAMB FRAME ANCHORING
Masonry 1X buck construction
1”

O~

61.\.

()
~(D

HINGE DETAIL

o

=

Vo]
ASTRAGAL STRIKE JAMB
/4
/4
7
W0
27
//
/4
LATCH & DEADBOLT DETAIL

0

@

0

]

g™

z

£ N

Wit

-‘_

E 6o

2 $a

Lt

d4 00

32>

[/ "

Zo

an®

O N -

o

o O Xz

— Zo

Ea F0o

£8 9.8

(/),?) 59c¢

¢ @oan
u'.
o
(=}

<D
i o B

LN
2

FBPE C.A. No. 9813

PLASTPRO INC
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING 1X BUCK
MASONRY CONSTRUCTION

K
BY

1 04/22/15 [UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<t
()
3
=
2

oATE: 02/16/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.24

SHEET 6 oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaling "m*'s 2102 (@)

€186 ON V'O 3Id8d SNOISIAFY

L616°659°CL8 "ON @uoyd A8 31vd [ON
GBSEE T4 ‘OdUIDA ‘OgZ xog 'O'd \&\Mﬁ&. STVLIQ TYOVALSY  VAINONS e 084 (v102) "a3 HIS 0L 3uvadn| si/zz/¥0| |

JK
LFS

*ONI ‘SINVLIINSNOD SNIaling ‘ATGW3SSY J0 Ldvd

4000 SSY19434I4

/, 60¥cy 'ON "3'd “ONI 0dd1SVid

&\\\ IPIWYDS "4 uopuk]
%~ :fg peodeld sjuewinoog :10NA0yd

-’

N.T.S.

FL—15213.24
SHEET _/ oF _8

oATE: 02/16/12

DRAWING NO.:

SCALE
DWG. BY:
CHK. BY:

-

60vEY 'ON

e, JoNON .5
& %0000 .\" )
\\\Q\\:IOW 3 R\

&
< £
ol § NE
wlc a| £
TTTeT i 2E * =E
WoLog <5 ol
4 o _n....l.nun [ BW
, 3 Sis 2 32
° — L 001 = "..||»
- 2l S
LB _®
N
S
S m :Om.o — @ :Om.o S [—_— ©
N
e
<
N
® w
i o
3 O
T
-
a4
I
T
L °
O
° — 1L =
<
— od
9T 5
f — E
° Ad
° ° U
1 Mo MWlm_l m.m
® ° =c
> = el
° o W .m i <|a
: ol 2 - >
1o & 3 *
° Mv AA
= = o]
3 3|3 39
w Wuo M..W
o (<<
1] Elo >lg
— <| S 2
O =S £
T S|S £
D = > =2
= S
: 2
Q ®
o
<
wi
(| °
o _
©
™ .
n—.ww . __NMO"_ —‘I
& -
Qa
(]
&
. + ) 53
(7] A\ alon
3 \ e
DT
S
m,o SM
O
. = 3
F]
<
| !
8
3 °
L]
14

401 Yy

9L 'BMP'9Z-6T €TZST-14\uaLd\sBuImeIq - D\ETZST-T4\s|erouddy 3onpoid epLOII\LNINYINYId dul ‘Odise|d\sIualiD\y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.19-26.dwg, 8.6

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL _|ITEM| DESCRIPTION MATERIAL

A [1XBUCKSG >=0.55 WOOD 18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
B | 2XBUCKSG >=0.55 WOOD 20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
C | 1/4" MAX. SHIM SPACE - 21 | POLYFIBER JAMB COMP. / VINYL
D | 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 27 | LATCH STRIKE PLATE STEEL
£ [MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE |28 | DEADBOLT PLATE STEEL - ) .

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 30 | WEATHER-STOP 3647 HOLM INDUSTRIES VINYL G e,
F [1/4" X 2-3/4" PFH ITW CONCRETE SCREW STEEL 31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD “tty,
G | 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL 32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM. IND. VINYL I
H | 1/4"x3-1/4" PFH ITW CONCRETE SCREW STEEL 33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
| | 1/4"X 2-1/4" PFH ITW CONCRETE SCREW STEEL 34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
J | 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL 40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - R
L | #10X2-1/2" PFH WOOD SCREW STEEL 41 | DOOR SKIN [MIN. 0.084" THICK) FIBERGLASS N
M | #9 X 2-1/4" PFH WOOD SCREW STEEL 42 | TOP RAIL CELLULAR PVC
N | 3/16" X 3-1/2" PFH ITW CONCRETE SCREW STEEL 43 | LATCH & HINGE STILE CELLULAR PVC
O [ 3/16"X1-1/2" PFH ITW CONCRETE SCREW STEEL 44 | LATCH & HINGE STILE SUPPORT WOOD
1 |[#10X2-1/2"PFH SMS STEEL 45 | BOTTOM RAIL CELLULAR PVC
2 [#8X3"PSH SMS STEEL 46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
3~ | FLUSH BOLT STRIKE PLATE STEEL 47 | STILE REINFORCEMENT STEEL
7 | Q-LON 650 WEATHER STRIP SCHLEGEL FOAM 48 | REINFORCEMENT RETAINING SCREW NYLON
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM 61 | 9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM
9 | 4"X4"BUTT HINGE STEEL 62 | 9-3/4" LENGTH BOTTOM BOLT RETAINER ALUMINUM
10 | #9 X 3-1/2" PFH WOOD SCREW STEEL 65 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
11 | #9 X 3/4" PFH WOOD SCREW STEEL 67 | SLIDE BOLT ROD STEEL
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL

¢ 4.56" S
? ! 2.44" ! 2.13"
. HEAD & SIDE
Jamb
! 5.63" | 4.56" 4.68" g 4.56" E

L'1.38—>

@ ADJUSTABLE INSWING THRESHOLD

——l 1.38" [_

ADJUSTABLE INSWING THRESHOLD

34

I‘— 252"

FT\“~kw\

— L

r

Y

"l 125"  |=—

@ OUTSWING BUMP THRESHOLD

|

HEAD & SIDE
Poly fiber jamb

W,
0’/, 10
“ %z 9
'.&’ Te]
VAR
EE
: :—-_l,\
;2= .o
Q’:o~w -
S E 82
O'Q\ <._O)P‘)
.'Q\ |_hl.0‘—
4 S D00
ee-® \\ _—_)>n'0>
R‘D\\ (7] o™ .
PYRw Zowo
1N om  Z
( & o“g.
Nl © o xz<
9 |° ¢ ZR,°
N |8 £ 9 .cuw
“lggy 592§
L ¢ Doow
2 u .
€ 0
o ¢
E 6% §
3 U .
g £ul
o 2
x 9
g =2
=8l =2
=5 Bo
(@]
o 0O > <§(QO_
0_5—'
R
S olo ©
| B
.. L oD
5 x
2 o
o &
x <
a a
Sl

REVISIONS

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

NO| DATE

DATE: 02/16,/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.24

SHEET 8 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



